Sample solutions to the 2024 VCAA NHT papers

Specialist Mathematics Examination 2

Question 7
Let y = f(x) be the solution to the differential equation % =1+ 2y with the initial condition f(0) = 1.

What is the approximation for (1) using Euler’s method, starting at x = 0 with a step size of 0.5?

A. 15 f(o) =1

B. 25 {{0.5}: 1+ 0-5‘(/4. Qxl) = 1+40:5%x3 = 2.5
C. 35
D. 4.5 () = 25+ O5(1+ 2x2:5)= 2-54 O-S’xé:@

@ 5.5

To order a full copy of these solutions please point your browser to
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Mathematical Methods Examination 2
Question 2

For two independent events, 4 and B, it is known that Pr(4) = 0.6 and Pr(4 U B) =0.92.
Pr(B) is equal to

Pr(AN8) = 0:47-(8)
092 = 06 + ’Pr(g) - 06 ’Pr(g)

.' solve (O-‘?l: Q6+ x - O, .‘k)
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General Mathematics Examination 1

Question 5§

The heights of a group of Year 9 students were measured and the standard deviation was found to
be 12.25 cm.

One student with a height of 174.6 cm had a standardised score of z = 0.45
The mean height of this group of students, in centimetres, was closest to

A. 1619 =

169.1 —1—7—%%_-2—6— = 0-4§

C. 180.1

D. 1864 5% = 169. 0875
E. 1873
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